CHALLENGE CARD #1


1. Which statement best describes a function?

a. A relationship between two ordered pairs where each x value has one y value.

b. A relationship between two ordered pairs where each y value has one x value.

c. A relationship between an ordered pair where each x value has one y value.

d. A relationship between an ordered pair where each y value has one x value.


2. A function that does not result in a straight line when graphed is best described as:

a. Linear

b. Nonlinear

c. Input

d. Output

3. Which function is nonlinear?

a. y = 3x + 4

b. y = 2x2
c. y = -2x – 1

d. y = ½x


4.  Which function is linear?

a. y = - EQ \F(2,3) x 

b. y =  EQ \F(2,x) 
c. y = 3x2
d. y = x3

5. Which equation represents a linear function?

a. y = x2 – 2

b. 3x + y = 7

c. 5 – x4 = y + x5
d. y = 2x3 + x2 – 5x +1


6. Which function is linear?

a. y = 5 + x

b. y = x3
c. y = (x+1) (x – 1)

d. y = 2x2


*B1*


Solve for x.


3x – 7 = 4x -2


*B2*


Solve.



(4.5 x 10-7)(0.9 x 104)








(4.1 x 105)
CHALLENGE CARD #2

7. Which function is nonlinear?
a. f(x) = 7
b. f(x) = 5x

c. f(x) = 6x4 – 6

d. f(x)=-3x -7


8. An equation is given below.

5x + 3y4 = 6 + y

Which term identifies this equation as nonlinear?

a. 5x

b. 3y4
c. 6

d. y


9. Ty will sort the four equations shown by classifying them as linear or nonlinear.

y = 7

y + x = 10

y = 4 – x5

x = 4

Which shows the correct way Ty should sort the equations above?

a. Linear ( x = 4

Nonlinear ( y = 7, 

y = 4-x5,

y + x = 10


b. Linear ( y = 7,
x = 4
Nonlinear ( y + x = 10,

y = 4 – x5

c. Linear ( y = 7,
y = 4 – x5,

x = 4
Nonlinear ( y + x = 10


d. Linear ( y = 7,
y + x = 10,

x = 4

Nonlinear ( y = 4 – x5
10. [image: image1.png]


Which of the following best describes the type of function this graph represents?
a. Nonlinear because the graph represents a straight line.
b. Linear be cause the graph represents a curve.
c. Nonlinear because the graph represents a curve.
d. Linear because the graph represents a straight line.
*B3*


Solve for x.


-(x – 7) = 3(x +4)

*B4*

Order from least to greatest.
A: √9
   B: 25/5        C:7%      D: π
CHALLENGE CARD #3

11. [image: image3.png]


A line is graphed below. Which is closest to the y-value of the y-intercept of this line?

a. 2 

b. ½ 

c. 0

d. -4


12. Which graph shows a line that appears to have a 
y-intercept with a y-value of 0?

[image: image8.png]





13. What is true about a line that has no y-intercept?

a. The line is parallel to the x-axis.

b. [image: image4.png]


The line is horizontal.

c. The line is parallel to the y-axis.

d. The line has a slope of 0.


14. What appears to be the y-value of the y-intercept of this 
graphed linear function?

a. 3

b. 0

c. -3

d.  EQ 

 EQ \F(1,3) 
*B5*


Solve for x.

7x – 10 + 4(x- 3) = 3x +4

*B6*

Ms. Misconish runs 26 miles at 5.6 mph. How long does it take her?
CHALLENGE CARD #4


15. [image: image5.png]


[image: image6.png]


Which graph represents a linear equation that appears to have a y-intercept of (0, ½)? 
[image: image2.png]



16. The graph above shows the linear function 
y = 4x + 2.

If the value of x is -1, what is the value of y in this function?

a. -4

b. [image: image7.png]


-1

c. –2

d. 2


17. What is the rule of the function to the right? 
a. ½x – 4

b. 2x – 4

c. ½x  + 2

d. 2x + 2


18. What is the slope of the graph whose equation is 4x – 5y = 20?

a.  EQ \F(4,5) 
b.  EQ \F(5,4) 
c. - EQ \F(4,5) 
d. - EQ \F(5,4) 
*B7*


Solve for x.

6x – 7 +2(x - 4) = 3x +10

*B8*

Ms. Misconish has two options: A)  32oz. chips for $2.88 or B)  28oz. for $2.80 
which 
one has the lowest cost per unit?
CHALLENGE CARD #5
19. Points (20, 32) and (-15, -7) are both located on a line. What is the slope of the line?

a. 1.5

b. 1.11

c. .897

d. -1.11


20. What is the slope of the line represented by the equation 
y = 7x +2

a.  EQ \F(1,7) 
b.  EQ \F(2,7) 
c. 7

d. 2


	x
	y

	-5
	10

	0
	12

	5
	24


21. The table shows the coordinates of three points contained in the graph of a line.

What is the slope of the line?

a. 2 ½ 

b.  EQ \F(2,5) 
c. - EQ \F(2,5) 
d. 2 EQ \F(4,5) 


22. What is the slope of the line in the graph?

a. -1

b. ½ 

c. 1

d. ¾ 


*B9*


Solve for x.

5x – 7 = 10(x + 3) -6x

*B10*

What is the slope of the line that passes through (9, 7) and (12, 16)? - 
CHALLENGE CARD #6
23. What is the slope of the line that passes through the points (2, -5) and (6, -2)?

a. - EQ \F(4,3) 
b. -¾ 

c. ¾ 

d.  EQ \F(4,3) 


24. What is the slope of the line represented by this equation?
2x + 3y = 6

a.  EQ \F(2,3) 
b.  EQ \F(3,2) 
c. - EQ \F(2,3) 
d. - EQ \F(3,2) 


25. Which value appears to be the slope of the graphed line?

a. 2

b. 1

c. -1

d. ½


26. What is the equation for the graph to the right?

a. y = 2x +2

b. y = x – 4

c. y = ½x +2

d. y = -x +2


27. Use the table to determine the slope of a line with the following points on it.

	x
	y

	-3
	3

	0
	2

	6
	0


a. -3

b. -1/3 

c. 1/3

d. 3


*B11*
        Solve for x.
2x –(x +7) – 10x = 4(x +3) – 6x +9 – 21x
